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Growth Accounting

gY ,t − gL,t = gA,t +
1
3
(gK ,t − gL,t ) +

2
3
(gLy ,t − gL,t )
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Growth Accounting
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Facts of about the Labor Market

7 / 26



Employment-to-Population Ratio (Labor Force/Population, over 16yo)

https://fred.stlouisfed.org/series/EMRATIO#
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https://fred.stlouisfed.org/series/EMRATIO##


Unemployment Rate (Unemployment/Labor Force)

https://fred.stlouisfed.org/series/UNRATE
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https://fred.stlouisfed.org/series/UNRATE


Average Hours Worked

https://fred.stlouisfed.org/series/AVHWPEUSA065NRUG#
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https://fred.stlouisfed.org/series/AVHWPEUSA065NRUG##


Real Compensation per Hour
w = MPL = A(1 − α)

(
K
L

)α
?

https://fred.stlouisfed.org/series/COMPRNFB#
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https://fred.stlouisfed.org/series/COMPRNFB##


A stylized model of the Labor Market
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Labor Demand

Firm is choosing labor to
maximize profits

max
{L,K}

π = AK αL1−α − rK − wL

Solution for L:

w = MPL = (1 − α)A
(

K
L

)α

What happens if A′ > A?
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Labor Supply

Household is choosing time to supply to the labor market. Time
supplied is remunerated by wage, which is taxed at rate τ, but it also
provides disutility in the form of less leisure.

max
{C,L}

U(C,L) = C − 1
2

γL2 s.t . C = wL(1 − τ)

Substituting it in:
max
{L}

wL(1 − τ)− 1
2

γL2

First order condition:

w(1 − τ)− γL = 0 =⇒ w =
γ

1 − τ
L
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Labor Supply

Optimal household labor
supply

w(1− τ)−γL = 0 =⇒ w =
γ

1 − τ
L

What happens if τ′ > τ?
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Labor Market Equilibrium
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From Ramey and Francis (2009) “A Century of Work and Leisure” American Economic
Journal: Macroeconomics 2009, 1:2, 189–224
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Hours per employed person went down

From Ramey and Francis (2009) “A Century of Work and Leisure” American Economic
Journal: Macroeconomics 2009, 1:2, 189–224
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But employment as a share of working age population went up

From Ramey and Francis (2009) “A Century of Work and Leisure” American Economic
Journal: Macroeconomics 2009, 1:2, 189–224
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So hours per person in the working age population stayed flat

From Ramey and Francis (2009) “A Century of Work and Leisure” American Economic
Journal: Macroeconomics 2009, 1:2, 189–224
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Unemployment
Inability to find gainful occupation while willing to work at the
prevailing wage.
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Unemployment Rate Long-Run and Short-Run Unemployment

unemployment rate = frictional︸ ︷︷ ︸
changing jobs

+ structural︸ ︷︷ ︸
institutions

+ cyclical︸ ︷︷ ︸
recessions/booms
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Wage Rigidity and Unemployment

Wage Rigidity: Wages only partially
adjust to changes in labor market
conditions (supply or demand),
especially in the short run.

Suppose there is a negative Labor
Demand Shock. Show what
happens to labor and wage with and
without wage rigidity.

UR = L∗ − L∗∗
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Why would this happen? Example.

Efficiency Wages
If the wage rate is set in the context of an ongoing relationship
between the employer and the employee, it can exceed the wage
that would be “market-clearing” (equal to MPL).

Reason: to make sure the employee is motivated to work at his best
(i.e. being “efficient”), the wage is set to be less sensitive to current
economic conditions (especially negative conditions), and it can be
higher than the current MPL, in anticipation of an increasing MPL
due to accumulating experience on the job.
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Is the Labor Market really that simple?

- Labor relationship is multiperiod.

- Market power (of employers, or worker) may be important

- Labor relationship is more than just the monetary wage payment.

- The stylized labor market we have studied should be used with extra care when
considering labor market policies. . .

- Next lecture we will make things more realistic!

- We will think more about monopsony, market structure, minimum wages, hiring and
quitting.
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